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+ DELTA=2.39824 VMAX=55260.9 XJ=0.25U LAMBDA#0.0367072
+ NF5=1E+12 NEFF=1.00] N55=1E+1] TPG=1.0 RSH=70.00
+ CODC=4.3E-10 CGS0=d.3E-10 CJe0,0003 MIw).4585

+ CISW=i.0E-10 MISW=0.2402 PB=0.58

* Weff » WDrawn - Delu_W

* The suggesiad Dela_Wis | 9970E-07

devin 05 15 ywoep datand]

-print viow ] i{vdd) i{vddl)

JpIon post nomod

end

OUTPLT:
Dasa index# | ;
voll  vellag oul curreni
0 . 50000 -10.629%p
250000 25350 .342.359%u
5.00000 688.5851m -598.8076
Duis indea k2 (nominal):
voll vaoluge cul carrent
o 50000 -10.5104p
250000 23750 .328.1237u
500000 658.006lm -S4L74800
Ducs indezi3;
voll  voluge out current
0. S.0000  -11.3080p
250000 221784 +309.2724u
5.00000  644.0152m —454.7700u
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